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  8.08BM                             ഘനരൂപങ്ങള്‍ ‍ - ഉത്തരസൂചിക

ചോദ്യ
നമ്പർ

സൂചിക സക്ോർ

1  a) √92+122=15സെ .മീ     

 b) π×9×15=135π ച .സെ .മീ

1

1 2

2 a )   √172−82=15സെ .മീ

b )  1
3
×π×82×15=320π ഘന .സെ .മീ

1

1 2

3 a )   20സെ .മീ  

b ) 10√3സെ .മീ

1

1 2

4 a )  √52+122=13സെ .മീ

b )  π×52+π×5×13=90 π ച .സെ .മീ

c )  90×3.14
10000

×10000×10=2826രൂപ
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5 a )  5 l

b )  8 :15

c )  320 π×15
8

=600 π ച .സെ .മീ

1

1

1
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6 a )   36πച .സെ .മീ

b )  36 π

3 π
=12സെ .മീ

c )  12സെ .മീ          

d) 3×360
12

=900
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7 a )   π×122×16=2304πഘന .സെ .മീ

b )  1
3
×π×122×16=768πഘന .സെ .മീ

c )  2304π−768π=1536πഘന .സെ .മീ         

 d)       15636 π

1
3
×π×42×6

=48
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